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Since it had a moment of permissibility before it took root

Overview

The 'xm3 derives from the *?05 which states PX7w* mpwnn that one may
bring a 3277 only from something which is anw for a 5%7w°. One can
therefore not bring wine for 0°301 from grapes which are 7779 or 017 X2, It
would seem that one cannot bring a 779°7v for a 1277 for the same reason. The
X3 in Mnan rejects this analogy and the reason for this rejection seems to
contradict our X713 which maintains that 0757 2°X%2 had a w7 nyw.
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And that which the X n3 states in the first 95 of nymn concerning 1939,

etc. The X na there argues that the prohibition of a 719°7v to be offered on the 12 cannot
be derived from X 7pwn as 01377 °RYI1 777w are derived -
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For 2°8%> (and 1177V) did not have a 221277 nYw, however 75°w did have a nyw
w107, That X 03 contradicts our X713 which states that 2°8X%> did have a w7 nyw!

Mo0IN answers:
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There it is referring to (the P09 of) Y8~w» apwn (that the ‘liquid’ wine of
the 2°501 must be X% 7M7) and the wine of 2°8%> (and 7777V), never had

a MWM2" nYW; however here we are discussing the seeds and the seeds certainly had a
AWIOT DYW.

Summary
Wine of 2°®X92 never had a w157 nyw.

Thinking it over
moon argues that wine of 0°X?> never had a "2 nyw. There is however
wine from an 2171 y°X¥ that was 2> nXn 7°017; the grapes become 710X and it
had a "0 nyw!
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? The grapes grew (79791) 2°X2 M0O°K2.
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